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HA,  n B,)

P(‘L2 fi B,>

P(A,  n ‘32)

‘itA R B2,

P(A,)

P<‘2,

P(B,)

P<B2,

115  I
1000

3so- -
loo0

115+ 3go

1000

Y5*  260
loo0

0.380

0.265

0.260

t Liz* 0.495
1000

I 222, 0.505
looo





1 2 3

\
nkwla  (C ) tdlk ( N ) f?ll

25 475 500

it!@ ( F) 5 I 495 500

tw 30 970 1 , 0 0 0

25

1oM) - 0.025 pm nI cl
30 0.030 . p(c)

:. 4yrq~c)1m  I
P(Nrl  C)

p(c)

P(F 1 C)  = P(F n C)

p(c)

P 0.005 1- =
0.030 r
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P(AUB(  C) I P(A 1 C) + P(Bj C) - P(A n BIG)

' ' P(AU BIG) -.

I
P(A(\C)+(BflC)  -P(AflBnC)

p(c)

P(Aj C) e P(B 1 C) - P(AQ BIG)

B*

& A, B ua:

P(AnBoC) = P(AI  B ll C). P(B1C)  . P(C)

H:a = P(A). P(B{A) . P(C(A nB)

l  l  P(A.BnC)  I. P(A 1 Bn C). P(B fl C)

I P(Aj BnC) . P(B\C) . P(C)

a.n.n.-







1 2 8

lib partition  n4 E
:.

E I (E n E,)  u (snEp  . . . u (E "En)

I ,(E n En)

mJu7nWnfU (ii&w  sxcluaire  svente)

:. P(E) = P[(~nE,)u(Efl~2)  u... u (E 17  EIl)]

= P(EnE,)+P(EnE2)  +P(EnE3)  + . ..+P(EnEn)










